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INSTRUCTIONS

. Answer all questions.

All questions carry equat marks.
Only ohe answer is to be given for each question.

If more than one answers are marked, it would be
treated as wrong answer.

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
only one circle or bubble inditating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEN.

1/3 patt of the mark{s) of each question will b
deducted for each wronhg answer. (A wrong
answer means an incorrect answer or mere than

one answers for any question. Leaving all the

relavant circles or bubbles of any guestion blank
will not ba considered as wrong answer.)

The candidate should ensure that Series Cede of
the Question Paper Booklet and Answer Sheet must
be same after opening the ervelopes. In case they

are different, a candidate must obtain another

question paper of the same series. Candidate
himself shall be responsible for ensuring this.

Mobile Phone or any other electronic dadgst in the
exarmination hall is strictly prohibited. A cafdidate
found with any of such cbjectionable matsrial with
him/her will be strictly dealt as per rules.

Please cirrectly fill your Roll Nurber in "O.M.R.
Sheet. 5 marks will be deducted for filling wreng or
incompléte Roll Numbsr.

Warning : i a candidate is found copying oq.;'fj'ény

unauthorised material is found in his/her
possession, FI.R. would be lodged against
himvher in the Police Station and he/she would
“liable to be prosecuted under Section 3 of
the R.PE. (Prevention of Unfairmeans) Act,
1692, Commission may also debar him/her
permanently from all future examlnatlons of
the Commission.
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1 .23=

2-3 . 23 o 23 A _%3_
2 Every odd prime number is of the form :
e frew evw den few ww @ e ?
(1) _(417-—1) or / AT (4n-—3)
) (4)124) or / ™ (4::2«-3)
3y (4n+1) or /= (4n+3)
(4) (4!} +l) or / 9T (4}32+3}
3 When a number is divided by 136 the remainder is 36. If the same number 1s divided

by 17, then the remainder is :

el e = ns%méﬁm&‘rmmmﬁm%mﬁ:aﬁrmzﬁr 17§ W
T W wEA B

(1) 2 ) 3 (3) 7 4 9

4 ABC is a triangle with BC =a, CA=5 and £ BCA = 120°. CD is the bisector
of £ BCA n"st:eﬁng AB at D. Then the length of CD is : .

Bt ABC % BC =a, CAd=5b 991 £ BCA=120°. CD, £BCA H adw T W
AB w1 D wx faad ¥, eﬁma?rmé%

a+b ab a2+52 az+ab+b2

2 @ T @ Fare) W T5(a+b)

(1)

5 In the following figurc, 70 is bisector of Z PTR, then TS =
@ R & 70, £ PTR @& aide %, d 7S =

3) 710 ' 4y Pr

(Iy 5S¢ B A
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6 Three cylinders of equal heights have their circular bases with diameters A, 5. 13 and

1> 1, 13 are the sides of a right angled triangle with /3 as hypotenuse. If h is the

heaght of cach.cylinder, then true statement is :

(1)  volume of greatest cylinder is more than the sum of the volume of remannng, two.
(2)  volumc of greatest cylinder is equal to the sum of the volume of remaining two.
(3) volume of greatest cylinder is less than'the sum of the Volume of remaining two.
(4) curved area of greatest cylinder is cqual to th{.- sum of thc curved areas of

remaining  two.

wmﬁm@rﬁmaﬁﬁ%qﬁam%w rl,rz,r'gqﬁ r],'r'2,r3 T FHDIOT
Brgw & qod ¥ R ool ¥ R udm Yem o S 4 ¥ A v waT
(1) €99 T 90 BT TG, 99 =0 Ja-1 & aaHi & ar § ge1 ¥ |

(2) TEE I IS HI AT, AT S SO B HETA B A H O E |

(3) UHH €% Y H AT, Y R IO b ST & AT F Brer ¥ |

(4) U9 9= 909 @ aked 4G, Y S S@ & afed GGl & 9N F 9UE §

7 Let A(xl,yl ), B(xz, Yy )_, C(x3,y3‘), -D(x%,yzl) be four points such that

X1 Xp, X3, X4 and V), Vo, V3. Y4 are both in Arithmetical progression. If A denotes

the area of quadrilateral ABCD, then -

A (01 )s Bxyn ) C(x3)s Dlxg g ) TR T v
X|> Xp, X3, Xq WAV Y|, Vp, V3. Vg QA1 FORR %‘r F % 13 A Tgds ABCD

% eTHT i UGN B & al

(I A=0
) A>1
3) A<l

(4) A depends on the coordinates of 4, B, C and DU /
A, A, B, C aar D & Tgie ux Ffr wom

8 The ratio of the sides of two regular polygons is [:2 and their interior angles are in
' the ratio 3:4. The number of sides in cach polygon are :

amﬁgﬁﬁgﬁmﬁﬁmlz%mﬁwaﬁvﬁmﬂmnﬁ T

ajg'ﬂﬁ#gmaﬁ?é’ra@r&%
(1 5,10 (2) 10,

9 If ax2+bx+c=0, a#0 then x=

T ax2+bx+c=0, a0 @ x=

. 2
(I) Tb + b ac (2)
20
2c )
3 4
@) —bi\/bz—flac )

34 A| 3

E

6, 8 @ 9 12

—-h+ \’bz + 4ac

2a

None of these / 3?1?{ %_ Eﬁ% T
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10

If A ABC '~ A DEF be such that side 4B = 91cm and side DE=6.5 crn_
If the perimeter of A ABC 1is 35 om, then the penmetcr of A DEF is:

gk A ABC ~ ADFF&{HW%%&WAB 91@t¥ramgﬁrDE 653 1
% A ABC w1 wiewm 35 ¥ &, a1 A DEF & 9ied g

(1) 2lem/¥h () 25 em/ W (3) 28-om/ T (@) 30 em/ WA

n K'wisa natural numbcr thén
uf%: ' mqrcf e % @ |
r=l o~ . ' ’ “
i . s
> Fil+r)
3 n 3 n+l 3n  3n{n+1)
L4 gy 2BID 3 = S SRy 4
B Faa @ S ) - 2(n+4) 2 4(n+2)
12 If (x-1) and (x+2) are the two factors of (x3 +i10x2+mx+n),
then remaining factor is : - ' a
ufs (x3+10x2+mx+n) % A TEETS FH (x—l)-_._aa_w_r-' (x+2) &,
T (x+1) i(2) - (x--z-) (), (-'x-+.-9). s @y (w=9)
13 If‘ al’ a2, 03,-7---;----136 terms of Anthmetlc progrcssron and
aq+aytagt +ap p2 - ;c_ré___ '
T S =TSP then T |
a}+(1’2+a3+ .... "...+'aq q ENCARCIHOE PP 21' N B A S P
o ap, 4y, g, AR M H R T
g taytay ++aP._Ei e Y
7o T ta z,pv&q._?ﬁ-a :
1 a2 a3 ........ aq q . 21 o ._._.-...
7 L 2. - 11 41
W % @) A e Yo e Y
14 If wis a complex cube root of umty, then T+w+we 4o + 1100 =
afs 3P W ‘:‘-Iﬁ%f e Tﬁr w % a‘r l+w+wz+...i-_l.__.._+ w00 = -
oy -w @ -w (3) -1 _ 4 0

34°AT - ' 4 [ Contd...



15 If a, b, ¢, d are in Harmonic progressmn thcn -

?Jﬁ a, b, c, dm'cﬁ Qa F 'E?f T 1
(1) a+b>c+d o (2)- C+d >‘__£'I"-|-_‘b' S e
(3) a+C>-b+_a{_ o '--{4) G+d >b+c
16 12412241324 4202 = | S
Iy 2485 (2) 2483 G) Bl..... ._..(.4):___ .248,7

17 After simplification, the number of terms in the expansion of (x+a )1 00 ( -a )1 00 is

AT % Tga (x+a)100+(x-a)100 ¥ ware ¥ wa @ m@m%

() 202 @) 51 G) 100 ) 50

2 3-211 ' ] ]
18 In the expansion of (1—-3x+ 3x° —x ) the middle term is :

.(1');'_' (n+1)‘h term . (2) —-(2n+1)”’ ferm

@ (3n+1)" Iterfn (4) hf"’ term

(I—3x+3x —x ) ﬂ? HFIT( 9( o W %

() (n+1)atw @ (2n+1)at trq’

@ Ge+l)@w @ nmw

19 Simuitaneous kincar equations 3x ~ y'= 5 and 6;:—-_2)) = 10 have number of solutions is :
(1) only one {2) only two {3) infinite {4) can't find
g ek THETN 3x~p =5 U 6x-2y=10 % T & W ¥ : __
(1) Fad TF (2) %saa @ @) i (4) amaé’ranm%r

20 If o and [} are the roots: o_f- tHéJléqu:gt;E)r;" 2x2 = Sx-;-'?:o,_thcnthcequatlon

. 1 1 PR B

whose roots are 20-5 2B-5 ' S p v oven e

o el 2x2 - Sx 47 = o%wa@ﬂﬁaa@mﬁmﬁ@

1 1 5 ¥ _ _ _ .
20-5 3B 3 % B : S : L
(1) 14x2 —5x+1=0 v Q) xP4Sx+14=0
@ x?-5x+14=0 @ 1452 +5x+1=0

L T PR

21 ZOC +220C +20C 22C18 vRIND S o me e
(1) 0,- (2) 1242 i YY) -3340 L (4)-=-'.§-3»45




22 How many triangles can be formed by joining 15 points, when 7 of them are on the
same straight ling ?

15 fegell @ P & frae foger <7 o w9 X, Glaﬁﬁaﬂﬁi-‘mfa'—ngsé’rw
T oX Rag ¥ 7 '

(H 7(:3 2) C3+1
@ Poy-Top+ @ VBoy-To
23 Jla13i= S .
o (1-43)/¥2 @ (1442
G x(1+3)N2 @ £(3+i)N2

. : _ NI .
24  The smallest possible positive number # for which (%ﬂj =-11is :

e s mm[i“] R
=7
OB @ 2 (G) 4 @4 6

x+1 2x 3x
25 If axd +bx? +ex+d=|2x+3  x+1 x |, then 'd'=
| 2—-x 3x+4 S5c—-1

- x+1 2x 3x
ufe ac + bl +ox+d =12x+3  x+1 X @ d =
2-x 3x+4 5x-1
(H -1 (2 31 3y 2z 4y -2

26 If A is a square matrix and K eR, then adj (KA) =
afg A’ s T Aigww @, W0 K eR W adj (KA)=

1y K™ 2q4j 4 @) IK”Hadj;ﬁI @ K" ladja @ K"adj4

27 A conc, a hemisphere and a cylinder have same bases and same heights, the ratio among
their volumes is :
TE S, TE o T qel U IO % WO TR 41 @R SeRdl §,
W T SNEAA W STUR ¥
y 3:2:1 2y 2:3:1 3 2:1:3 4 1:2:3
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32

33

The curved surface of a cylinder is 1000 square cm, and a wire of diameter 4 mm
is wound round i, so as to cover it completely. The length of the wirc is :
(1) 25 mcters (2) 230 moters (3) 257 meters  (4) 2300 meters

TH d w1 Alhd e 1000 T AW ¥, w9 4 Rl mmw ¥ av w Jow o afea
UGE UT TH UHR WIS G ¥ R q® Y9 B o ®, q aX N W ¥
(1) 25 ¥drx (2) 250 Hrex (3) 25m wHex. (4) 2500 Hex

Two cones of same vertical angles have their heights as hi and A, then ratio of
their volumes is : -

T oo At @ s @ Skt By Tl hy ¥, @S ST T o %
M Kk @ Ak

(3) (hlz'tan2a):h2 (4) (hf)(h%)

An equilateral triangle. of side @ is revolved about a line through one of its vertices
and parallel to opposite side. The volume of the solid so formed is :

T ' o A eag B @ B % ww ofid @ e et Y@ o e e
% FANIC B, b UTn: YHIE o ¥ S@ YR 99 3w oTEed &

1 3

(I) 21ta3 (2) Tta3 3 51‘&13 : (4) Zrta?’
One radian cquals to :
(1) (EJ 2) [3 of a right angleJ

s s
3) [-—1— of four right a\ngles )O (4 .
( 4n ® : 180
uF Weaw wOEy ¥ oo

2Y 2y
n (—] ' ) (qaa FHEHTT a-n—)

s s
3 (En‘{ AR T L)O (4) u
2 ' 4r | 180
If 0H-B=1U'2 and B+7v=0q, then tant =
e a+B=w/2 M B+y =0 @ tanc =
() 2(tanB+tany) (2) tanP+tany
(3) tanf+2tany (4) 2tanP+tany
If secO+tan@=m then sin@=
g secB+tanB=m d sin@=

1 - m® 14 m? 2 2m

; 3 4

W 1+ m? @) I —m? ©) 1+ m? ) e
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_ _ - , 1 S
The general value of Q which satisfies equations : sin€ = ~3 and tan@ = —75— is :

)

() mc+% (2) mc+(—1)”-g'— (3) 2nn£'g (4)'2nn—%

| | s _
wfimon sinf=—— qar tan6=——1—3a¥ra§szao-ﬁm@r O % ATH T

' : 2 2( :
If tanB—cot®=a and sin@+cosB=4&, then (b ~1) (a +4): _

- 2
of tan®—-cot®@=a qar sinB+cosO=5, & (bz~l) (a2+4)=
1 2 @ & @3 -4 @ *4

Let C; and C, be the inscribed and circumscribed circles of a triangle with sides

' area of (]
3 cm, 4 cm and 5 c¢m, then m? |
A Cp qu C, Redy Bryger, Rredt gend 3 &0, 4 &0 qer 5 &0 ¥, & o qA
, g CTEEE
T LT A, S
(1y 4725 (2) 916 (3) 925 4y 1625 .

The angles of a triangle are in the ratio 4:1: I, then the ratio of its largest side to
its perimeter is :

o Brw F Er 40 10 1% egaa A ¥, o g8 991 e e gu oftan ¥ Sgun ¥
1 ] N NG 3
(1)) NG ® _5 O h W 2

If a,a,a3,........ @, are in Arithmetic progression whosec common difference s 4,

n

P d
then Etan L -
w 1+a; a4

af ay, y, 43, . ones ady gadL Bk a, ﬁ\“lw 'Eﬂ?iw d%,

4 d
ar Ztan*l—#—'—=
P 1+a; a4
- d
1 ntan~ —4— @ =
I+a a, : l+a a,
-1 nd .1 nd
(3) tan ——— (4) 'tan ,
l1+ek, . a, 1+a a,
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39 From the top of a cliff 60 m high; the angle of depression of top and bottom of tower
: B T
are respectively observed. as 5 and 3 the height of tower is :
(1) 40 meter 2) 120 meter  (3) 90 meter (4) 30 meter

60 ez e et A W ¥ 0% A B D ¢ AW % o B A -g
w T M B W ¥, R R S ¥

() 40 dex @) 120 Hx
(3) 90 AR 4y 30 Hr=T
o ; 12+22_+32+ ........ +n2
40 Let 0= lim 3 and
H—yoo - " :
(13—12)+(23 22)+(33 32)+ ........ +(n3—-n2)
= lim 7 then
H—o0 H
BT LTI ¥ +n?
qAFT o= lim 3 a=n
’ =00 1
(13—12)+(23 22)+(33 32)+ ....... +(n *n2)
B= lim — o
n—o0 n
I o= ) o<p
() 4a-3B=0 . @ 3a-4B=0
d[ — 2x ]
. —| si =
4 If x>1 then - o)
?:rf'&'. o1 R d(s-n—l Zx]
1 —_— 1 =
RS S
1+x° ' _ 1+ x°
@ — @) ( 1]
1+ x? U+ x?
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43

44

9%, 0<x<2 Jx, 0=x<1

3

" f(x)={ \ ? ana 5=

x°.. 2€x<

a

then which of the {following
l<x<4
statement is truc ?

(1 grgf(.\')=§ for 0<xgt () gof(x)=x for 1<x<2

2 2
(3) graf(x):% for 2<x<3 @) gOf(r)z(fj for 2<x<4

< 3
2, 0<x<2 Jx, 0<x<l

o S= qar g(x)=1x & Prefited ¥ &
/) {-\’?1 25x<3 ,() % l<x<4

M g/ ()="" 0sxs1Ffw @ gof(x)=x. 155 <2 W

YZ

2
?3) gof(x)=¢§-,25xs3ésﬁm (4) .gOf(X)=(§] L 2<x<4 B

The point P. on the curve y=+fx—2 defincd in the interval [2, 3], where the tangent
is parallel to the chord joining the end points of the curve. Then the co-ordinates of
point P is : ' ‘ :

aF y=+x-2 ermw [2,3] ¥ ofeafa ¥, ud wh % frg P wmolen did
AR ¥ @ 9% FBR B Bem ae S F w3, @ P % Flais ¥

9 5 - 9 i
M 1343 @ (2,0) Gy 7% @ (3.1

The true statement for the function f (x)=x3+2x2 —1 is :

4 4 1
(1) incrcasing in .—an (2) increasing in —"3‘,—5

4 - 4
(3) decreasing in “3‘10 (4)  decrcasing in 033

W f(x)= 0 +2x2 -1 F Ry wa w3

4 . 4 1
(1) (_3’()) ¥ oqdaE ¥ i (2) (*E,“EJ ¥ afam ¥ ot
4 4 |
(3) [‘}Ojﬁ'w% \ (4) (0~§)ﬁmn1=r% 1
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50

If x2y3 =6 and x;y>0, then minimum value of 3x-+4p is :

Ay x%y? =6 9 x, y>0 °@ 3x+4y W IGT IH ¥

1) 7 2y 10 o (3) 13 @ 14
[sin 3x
- , x#0
If f{x)=4sinx is continupus function, then k =
k , x=0 '
sin 3x %0
e f(x)=4sinx 7 Wad wew @, @ k =
ko, x=0
(1 0 2) 173 3 I @ 3
x+1 when x<2
It 'f(x)“{Zx—l when x =2’ then f (2)=
(10 2 1 3y 2 (4) does not exist
Jx+l g x<2 .
k f(x)_[2x—1 wxzp /2= |
(1) 0 2. 1 (3) 2 4) foremm 8 %

If line ax+by+c=0 is a normal to the curve xy=1, then
A Tar ax+by+c~—0 Th xy=1 X @ @, @

() ab>0 2y ab<0

(3) a>0,6<0 o/ a<0,h>0 (4) a,beR

jaxda=
ax . ax+1 -
(N log a+c 2) a*-log,a+c (3) +c 4) x-a° +c¢
e _ '
. sin(x—y)
Ifxand p arc acute angles, in radians, of a right angled triangle, then jm dx =
JSm(r v) e
uﬁxam)’%mwﬁgaﬁiwﬁaﬁw I ¥ %, o Smx+y)
1 cos{x—y E ICOSx—y
(1) gﬁ“ @) T enlea ) (( )sc
_ ¥ . sin(x+ y)
I . ' ' r . .-
3) ——z—sm(x—y)+c ) 55m(x—y)+c
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35

I—x

j(H-x )\/TI-x

" V2 1+ 2 o JE . 11%x2
1 B a2
3) —=sec +c 4y —cosec  ——=+C
) V2 1+ x? _ _ @ V2 i 1-x?
Jﬁcot#l(]—]dx-
X
-1 1 2 : ST S O .
i~ ——=lo (l+x +c . xcot —+=lo (1+x )+,c
1) oot ==Zlog[i+x’Jre @) o+ log(1+x
(3) xtan"lx—llog(1+x2)+c ) . : v of
_ 2N 1+x?‘
/4 "
), L¥sinx _ |
. g 2 2 Lo
o =(¥2-1) @ ={Vz+1) @ an(v2-1) W -
| | 5
If [-] is the greatest integer funetion, then J[xﬂdx:

o

@ Q. W 2‘-*-—«/27?‘.6 '( 2+J_ '[L;]T*
' 2T |

" The area bounded by the ellipse: "E(jfif,.b—z-:l and the tangents at the extrcmities of
a

its minor and major. axes,is :.. . ; 3
(1) (n—1) ab sq. unit (2) (Tc 2) ab sq unit

@) (n-3) apsq unit. o ', A4 (4 1) .ab sq, umt

& —+2§5 1ammagqaaémaasﬁﬁmmﬁw@rmﬁaa
(1) (n— 1) ab a1t s-cmé | (‘n "‘z') abaﬁ s-aﬁré
& (x-3) @t wE 4 C4F" %) ab g
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60

Let P be the point of intersection of the lines ax+hy~a=0 and by—ay+b=0.

A circle with centre (] 0) passes through P. The tangcnt to thIS crrcle at P meets

the x-axis at the point (d,0), then d=

A @R by - a'= Oaan bx—iay+b = Oesr;rf%ﬁﬁﬁférgP%m%ﬁ“cﬁrﬁmw
%F;(lo)%P%gam%lwqa%ﬁ@waﬁ@T ~oE B ’/g (d,0)
tr{ﬁm‘cﬁs‘ra‘fd— SR

0 R o b
1 : _ 4 =
4y | o (2) 1 | (3)_ 1 (4) SRR
3n 2
. s
oy PR
! Lioe - -1"1'0. 657 @3y " 41?"1'0' 38wy Llog82

' 3%
The area bounded by thc curve y—smx xa*cls and the lines x=0 and x-?

in square unit is

w5, y=siny, xﬂﬁ’ﬁW%@T@ﬁx oaan x-———-@ffh’(%sraﬁraﬁmﬁm%

1 o @@ - Q.. @ 3

0(0 O) (6 0) B(O 4) are three- pomts If P is a moving pomt such that the area
of APOB is always tvyu;e of the arca of APOA, then locus of P is :

0(0 0), 4(6,0), B(O 4)4%&15% | afe P e afta fg [ & 8 A POB
B AeA weE A POA ﬁséﬁtﬁaég*mﬁ ar P o feg wa ¥

D 2 ~9y .-HO foo e N QY _:.'(2)""'_' 9x2—‘-y =0

3) x*+9y%=9 @) oxt4yteo-

AR

The equations of the sides of & triangle are x -3y =0, :":ﬁlx'-i-3'y =5 and 3x+y : 0.
Then the stralght Ilne 3x -~ 4y 0  passes through its :

Ty eentroid T @y P iebrdt o (3) " circumcenter '(4)- orthocentre

wﬁgm%eﬁwgm&ﬁ%mﬁmw% x-3y=0, 4x~|~3y 5 e 3x+y 0 g
T @ 34y ow%sﬂ%- S
) »®d,.. Q) aﬁf;asa ) trﬂ%ﬁ @r @ mﬁﬁ ﬁ
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The circle x2+y2+4x+22y+c_=0 bisects the circumference of the circle
x? +y —2x+8y—d= 0. then c+d =

@ x+y? +4x+22y+c= O qq x?+y? - —2x +8y—d =0 B ufeh Bt wfpRa

HT E, 9 c+d= |
(1y 30 (2 40 - (3) 30 ' 4y 25

If *4 and '¢' arc segments of a focal chord of the parabola y2 =ax, then:

afe pr T ¢ tﬂﬂﬁt{y =ax % FWHEG SEr @vS E, @
2bc dbc

2 _ =
(1) 2a=b+c @) 4da"=bc (3 @a= brc .(4) e

Normal drawn at the points '#{' and 'fp' on the parabola y2 = 4q¢ Mmects again on

the parabola, then :
weaw y? = 4ax ﬁsﬁ‘ﬁ'q Gl 't2 @ T et g waed W e §

(1) ta == '—2/f] 2) I.‘lfz =2 : (3) "‘1‘(2 =-1 4) ty = ;

If the straight lincs joining the ends of the minor axis of an ellipsc to its focus are
perpendicular to each other, then the eccentricity of the eilipse is :

aﬁwéﬁiﬁaﬁﬁgma%ﬁﬁr&aﬁsﬂﬂ%ﬂﬁﬁﬁaﬁaﬁmmﬁ
a‘rsaa%‘raéﬁ?n% |
1 1 B

() gj—g D Gr @ =

The cocentricity of the conjugate hyperbola to the hyperbola %3 y2 =1 is :

sframa x? -3y2 =1 % dgm fuiawd @ I €
| _ 3
(1 2 (2) E (3) 4 (4)

[PV =N

ax+by+c=0, represents a line parallel to y-axis, if :
ax+by+c=0, y-3el F TAGY Y@l TR FA §, U |
(N b=0,_aeR (2) b=0,aeRy; (3) a=0,beR @) a=0, beRy

if the sum of the slopes of the lincs represented - by | 4x? +2hxy =7 yz ={ is cqual
to the product of their slopes, then A=
4x% 4+ 2y —7y? =0 @ Frefa Tl & ol 1 R S BIEA % UER & I

B,od A= . : o
(1y -6 ' 2y -4 3 -2 4) 4
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70

7

72

The conic represented by x=2(coss+sinr}, y=5(cost—sin?) is
(1) a crcle (2} a parabola (3) an 'ellipsc (4) an hyperbola

x=2(cos/+sint), y=5{cosr—sins) ¥ Frfa s 3

(1) & g () Tk wEma (3 uw dEgw  (d) um ermyacawd

It any linc makes an angle o, B,y with the coordinate axes then

cos 20+ cos 2B + cos 2y =
afy B e Pd ot % @ o, B, v BT g ¥, @ cos 200+ cos 2B + cos 2y =
Iy - 2y 1 3y 2 , 4y 3

The sum of the squares of mimmum distances of a point »(x, v, z) from coordinatc
axes is

g plx, p,z) B PN sl & g il .ot w 9w -

x? +y2 +2z°
(N x+y+z (2) —3——*—
() x?4y?4s2 @ 2fx?e et

The eqﬁdtion of the line 't.hrough (],2,3) and parallef to the linc
X-y+2z-5=0=3x+y+z-6 is
frg (1,2,3) @ 9 Ol g Y@ x— p+22~5=0=3x+ y+z-6 % gawag X@r
H THIHOT § '
-1 _y=2. z-3" : x—=1 y-2 z-3
P 5 N R~ S
x=1_y-2 z-3 x=1_ y-2 z-3
®) 3R 5 " @ 3T —4

(1)

The angle. between the lincr-;'__' 3 =(2 P :r +3 f;) + 7\.(3;— :: +2 fz) and the plane

J_‘-(;:+_}+}\:)=3 is :

@ F —(2:—J+3k)+l(3:—j+2k) T WHGH T (r+]+k) 3 % 7

BT F _
(1) 9=cos_'(4/~/5) : @) O=sin"’ (.6/_\/5)
() 0=tan~!(2/3) @ e=sin!(4/¥a2)
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73 The straight lines ~——="— =" and - =-— z 1ntersect at
the point : : : y
.. L x=1 y=2 z=3 __ x-4 y-Il
@ @ =T m T T =‘*—y2 =2 i wiee fag ?

M (1L2,3) @ @&LD e 0Ly o (4)-_' (91;-—1, -1}
74 Two straight lines 7 =a +Ab) and F=a, +Ab,y will interseét if |

o a\_@TQ F —'a1+7t.b1 QEI r—a2+7Lb2 F{Pﬂf@H ?b)(-fh 'C[%

(bl xbz)‘(az,—al)—o (25 - (bl bz)(az Cll) 6

@) (BxEy)x(@xa)=0 @ - (bl_sz')X(‘_'z”ar)ia' |
"75° “The ling which lies in the plane I_"(;+ 2}'-% J;) =3 15 5 -

ww Fo(iv2j-k)=3 ¥ ﬁmﬁrﬁqa &l e Pl

(N -—I+j+l(2!— +4k) . (2) F‘—-I+_}+K(2!+]+4k) -

) F=}'+k+x(2f+j+4£-) ) F‘fi+'k+l(2r-J+4k)

76  If the mean of x| and Xy is My and of x,Xz,x3,xy is My, then the mean of

x X,
: A R . Y L X3 Xy
A xy, xp B A M| W X, X, %3, % W My B, @oax @, W
M +M _ aM;+M,/a
(1) - 1—24 -ZNE2) ——1—2_
3 l:(a ~1) +2M] y o [2(.:: -1)M +M]
€} - 1 2 @ o\ L 2| -

77 Which of the following is true ?-
P ¥ § @ 9d ¥ 7
(1 Mcan = 3 Median —~ 2 Mode (2) Median = 3. Mod:c_—: 2"Mez;n
(3) Mode = 2 Mean — 3 Median (4) Mode _= 3' Median — 2 Mean

Il

78 24 obscrvatlons are made m a serlcs in which half are equal to '¢' and other half are

equals to '—g'. If the standard dewation of the observatlons is 2 then |a | equal 1o :

24ﬁaﬁﬁ@#ﬁﬁwﬁ~%mﬂ?am§meﬂé a7 IEL E AR
_uﬁaﬂﬁmmﬁﬂmzéﬁ]a\w%— L

: B T B T N
(1) .2 SO N ;‘ :_-(4)---_{—
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- 80

81

82
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. 84

85

The probability that a leap year has 53 Sunday or Monday is : .
ww S (fa) o ¥ 53 dEr A dwEar oM @ wigwa ¥ oo
nH w7 2 27 IR ) BT A 4) 47

A and B respectively toss a coin two times, then probability of gefting same number
of heads is -

Ao B AW UF REF W @ W% 9oWd ¥, ?ﬁaﬂ%smwmﬁ&mmﬁ
W T € - - |

(1y 716 2y 3;’16 o (3). 3/16 (4) 16

A pair of dice is thrown. If at lcast one-of them shows 5 then probablhty that the
sum of their digits will be 10 or more -

T U w g G W ¥ IR T Y B w9 g S R ¥ an it
& AW 10 o sifbE oW B wiiwar ¥ -

(1) 1/6 (2) 2/9 (3 311 4y 112

The mean and variance of a random variable X in the Binomial distribution are 4 and

2 respectively, then the value of P(X =l) IS

1w arehem 9T X, S fow 427 § ¥, @0 Aven qun w0 A 49 2 8, @ P(X =1)

B Y - | '

(H 14 2) 18 (3) /16 4) 132

For any non-zero vector &
[(Ei x?)x?+(21' '><}')><jr’+(5 x@)x@]_:

Pl siepa wRw & ¥ g [(ax}")x?+(&x})x}+(3x£)x}&]=

-

() -a Q) 24 B 2a @ 3a

I vectors ai+ j+4&, ;+b}+§ and }:+}+c§(a¢b;ec;tl) are coplanar,

" 5 HREN. N
Mg 1-0 1-c

ot GRS @i+ j+k, i+bjtk, i+ j+ck(arbrc=]) wEEE #,
[ ] VI
+ + o
il I—a 1-b 1-c S
(n o 2y -1 S ) I @ 2

If a :BE are three non coplanar vectors and d =‘}\E{'+' p.5+’y ¢ then A=

af E,_B,E 7 ereaeE W ¥ 9 d=ha+pb+yc & A=
[a5c]  [sed]  [3d<] BE:

W Tpaz] @ [pea] @ [abe] @ lase]

| I—
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91

If ;xasza Fxb=axb where a and p are two -non—zer@ non 'paralle] and
not perpendicular vectors, then r=

ot rxa=bxa, rxb=axh W& a @A B @E, G T A
§ W @, @ r= | -

() a+b ) a-b (@) axb+a  (4) axb+h

If axh= ¢, b xe=a and ¢xa =48, then corrcct statement is

5 ¢ are unit vectors (2) .3, B,Z are mutually perpendicutar
:|=~ (4)y All thc above

e axb=c, bxc=a @@ cxa=b_ & g wuw ¥ -

)y a.b ws‘ﬁfc‘:m% 2) a,bc TET T
bm']_=i @) Suime

l_l

If the sum of two unit vectors is a unit vector, then the magnitude of their differcnce
veetor 1s

afy < e Wil @ @i off 3 wRE A, @ S o= gl @ afer wen -
(H 0 @ 1 B) 2 CONN Y

The foot of the perpendicular drawn from origin to a planc is (12, -4, —3)._
then the equation of the planc is : '

@ g ¥ frfl e W osW W @ % ue % fdetw (12,-4,-3) F,
q THAIH B FHIBT & - _

(1 12x-4y-3z=13 (2) '121'—4y-:32+l3=0

() 12x—4y-3z=13° (4)  12x—4y—3z=1/13

Daily wages of 10 workers in a company are given in Rs. as :
15, 20, 22, 19, 16, 10, 17, 18, 13, 20. The standard deviation in Rs. is :

UH HYA A BH B I 10 A B 30 daw wwa § e ¥
15, 20, 22, 19, 16, 10, 17, 18, 13, 20 1 394 & A% ferme % -
() 3.453 (2) -3.433 (3)  3.543 (4)  3.345

In the group G={(2, 4, 6, 8); xlo}, the idéntity cfrﬁmcnt is

TE G={(2.4,6,8); %0}, ¥ T omma ¥
1y 2 2 4 3) 6 @ 8
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96

Number of transpositions for the permutation .

1 2345678 9)
P=la 3 4 5 167 9 g)is:

(12345678 9)_ o
WP—234-5]6798 ¥ qerael W e § o
(y 2 2) 3
(3 4 4 3

If thc mapping f:c—c¢ such that f(x+iy) =iy, is an endomorphism of
additive group of complex numbers, the kerncl of f is:

(1) Complex numbers with non zero imaginary part.

(2) Set of real numbers.

(3) Purcly imaginary numbers.

(4) None of these. 3
afs g or e e W IR ¥ T f(o+iy) = iy, aftns demed & afe o
B ATENGE B, WL B oaife ¥ :
(1) A FAME AT TR ARy dea] |

(2) <rdfoe et & g |

(3) Y& FNrE TN |

(4) T ¥ FE & |

i H is a subgroup of & and N is a normal subgroup of G, then H ~ N is a normal
subgroup of :

1y G Ry 4

3) N (4) Hand N

afy H. G %1 SUEE & 991 N, G 9 TOFT SUEHE ¥, W H AN TEE IR ¥ ¢
(1 G ) Har

3) N 4) HaNTE @

The identity element of the quotient group G/H is :
forr v G/H =1 oW a @90 §

(1) e : 2 G
3y H 4 1
L 1 it o
If w=sin"" (x/y}+ tan~ (y/x), then the value of x—+ y——. is :
_ ox T ady

- -1 an du ‘ .

afs w=sin" (x/y)+tan” (y/x), W@ x—+y— H AA ¥ :
dx 7 dy
| 1

1 o @ W
3) (4 2u
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98

99

100

101

& u 9% 2% _ _ _ L
If r=—pr,35= and /=-——, then the point (@ &) is maxima of a function

a2’ dxdy oy’

u=f(x,y) if at (a, b) :
% u

afg =, 5= aent_—?i‘rﬁg(a b)w::—f(xy)waﬁﬂmm
ax?’ oxdy d’

af& (@ b W -

) (t-s2)<0,r<0 ) (rt-s2)>0,r<0

3 (rt—sz)‘;!p, r>0 @ (r-51)<0,r>0

7
The value of T(—E), s !

16 16
—n —— T oo ot exi
(D) 105 vn (2) 105 N (3) . (4) does not exist

F(—zj w A ¥

2 . )
A )y = 4)  freem ¥
(1) 105 2) 105 (3) oo (4)

2
The number of asymptotes of the curve y=e~ +1, is
(1) Asymptote does not exists 2y 1
(3) Infinite asymptotes 4y 2
2

qm p=e ¥ +1 F oFTomEnEl B g ¥ o
(1) aF=raell §ya T8 % 2 1

(3) T SEamn ' 4 2

3
If the function f{x) = x(x—2) is continuous in |:0, %:I and differentiable in [0, E]
then the value ‘¢’ of the mean value theorem, is :
e AT f(x)_x(x 2) 61'_cITIT'T|:0 E]frﬂaaaan[ }ﬁmwﬂu% qr
HEAT YA b ¢ W AN ¥

1 - 2 1 3 2 4 1

W @ 3 3 3 @

In real number system the mter_sectlon of an infinite collection of open scts is :
(1) definitely an open set (2) always-a closed set

(3) not necessarily open set (4) an infinite set

arfeas e frem ¥ frga wiedl § orra daE @ gdtis §
(1) fifyeg =0 ¥ & fage weae (2) @39 0% W99 9=
(3) fogu woaw B omayds Wel (4) UH oA wy=d
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102 If sequences @, and &, both converges to / and if @, <c,<b,, V.n and ¢ is a
_ constant. then the sequence ¢, converges to : '

_ !
(h f+c (2) Il-c¢ (3) 1 4) -

e oI a, qT b, A /[ 9X orfhga ekt ¥ 9w AR g, <c,< b,V T
c TF FEL 3, 9 APHA c,  oaga q o
' i

() I+e w @ l-c® (3 IW @ =T

103 If fis a real valued bounded function defined on [a, ] and p, p'e P|a, b] such
that p' i1s refinement of p, then on introduction of a new point of division :
{1} decreases the lower Darboux sum.
(2) increases the lower Darboux sum.
(3) increases the upper Darboux sum.
(4) upper and lower Darboux sum remains the samc.

akk £, [a,b] WWWMWW%H&T p,p'eP[a,b] EGIREIRE
¥ Re p, p B olem (aftean) %, o ue T fawem fag % wiekig B S 9
() = s{ 9/ % g o ) P o= @ F ghg @l

(3) U0 s Am ¥ ghg eFl 1 (@) wal Tw FE osH Al s @

_ 5 -1 3 h 4 3 B .

: 2 2 32 3 47 4 & .

104 Series | Z__Z| | = -2 4] ——=1| =+ - , 18
121 2 2 .3

(1) Convergent (2) Divergent
(3)  Oscillatory finitely (4) Oscillatory infinitely
= L2 -3
2 3 4
é\'ﬂﬁ g_._.._g_ + 3__1 -+ 4__i 4o y % '
1% 1 0 2 3% 3 :
(1) g () omEr
(3) uitfe |mrEm ' (4y i . S
o0 xn
105 The interval in which the series of functions 2 wE converges uniformly ?
n

n=l1

%mﬁiﬂﬁmaﬁwz‘—f—waﬁr@aﬁ%%

n=] 1+l
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106 Which of the following statement is true for the vector f(¢) having only the direction .

as constant ?

e F(;)%ﬂﬂ?{%ﬁﬁrﬁaﬂw%ésﬁfqﬁﬂﬁ%aﬁ?—wmm
aa 5 !

) dF dF o dF 5 &F
- N - ¢ " =T
Iz ‘di =0 (2 F_x_d-{—=o @) F-—=0 & F-—3

dt dt

=3

(1)

107 If @ is a constant vector, then which of the following statement is wrong 7

o o uw sraX aRky 3, @ fe ¥ ¥ dF-u wuT o ¥ 7

— . - —
() a.v=v.a 2 V.-a=0
3) Vxa=0 @) diveud Z=0

- 5 -
108 If 4 =x“yi — 2xzj + 2yzk, then curlcurl 4, is :

afx E=x2yi—2xzj+2yzk,?ﬁcurlcurlz wH AN &
(1) =2x+1)j )  2x+1D)j
3) (2x+Dk (4)  2x-1)j

109 If ¢ is a scalar point function, then j ﬁq)ds, 15 equal to -
hy

R ¢ ofiw g waw %, @ _L;?q;ds, TER %
1 Vo | ) LV‘]""S

@ | Voa ' @ 0

110  Statement of étokc‘s theorem is :

wag g W HAT §

() jf_«“’-dmj(ﬁ-vf)ds @

£

Fa - 2
-dr=n|VF . hds

[y S—
Ry
tn t— o,

(3) jf_?)-dr=jf5-{V><?)d9 (4) j}?-ﬁa{c;jvi?dv
fsy 5 . v

5
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Solution of the differcatial cquation
d
x logx 2y y=2logx is ;
dy ’
HTHA FHIHTOT

d
xlogx—i]i+y=210gx AR -
dx

(1) r=logx+c 2) yef =xlogx+c
() y=x("+clogx) ) ylogx = (logx)* + ¢
. . i  d d ]
If gecometrically the equation B = 6}) = ]—j where £, (2 and R are functions of x,

» z: represents a system of curves, then at any point (x. ) z) of the system the 7
@ and R rcpresents ; -

(1Y direction ratios of normal (2) direction ratios of tangent

(3) -dircction ratios of binormal {4) None of these

af v w9 @ ahwor %=%=% R PO REEE 5 2 %) T
am P F PreRe e 3, @ P % Bl g @y 2) W R O qun R Pref
H 3

() o % Regsgaa (2) @l & fesgergaE

(3) Sufhera & s 4) ¥ ¥ @ &

Solution of differential equation y—2.\‘p+ayp2 =0, I8 ;

sama aler y—2xp+ayp’ =0 @ wa ¥

(I ’fz:@’"'lacz (2) x2=cy—lac2
4 4
]

(3) y2 =cx — " ac? 4) y=2x+ ac?

Part of complementary function for the differential equation

2 3
. 2,47y dy _ 2v9 .
(=x )P+x};—y—x(’—x )2, s -
HFHRA  FHIHTIT
d? d R
(]—xz)}'—Ty+x—;~;—-y=x(1~X2)2 F QCE GEH hl T
X
() y=c* @ y=e¢¥ @ y=i @ y=x
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116

117

Singular solution of the differential equation-
: - ' . : . - d .
y2 2,wy+1r:2 2 (a2p2+b?]=0, where psa’v, is ;
ST mﬂmw

. . d
y2—2pxy+p2x2—(a2p2+b2}:0, R pE}{; o fafas & §

(2]
b

2.2 X"y
(1) a*x +b =1. , Q) —S+==5=1
-ar2 b2
20 o d | 2, .2 _ 242
(3) x"+y =b_2 4y x“+y"=a’b

Two forces P and O acting on a particle and the angle between them is {90—o).
The angle between their resultant and the force P is given by -

T F W FERE QA owl Poaw O F WA w7 (90— oc)% tsﬂﬁsqﬁtrrrﬁﬁam
I P % A F BT §

_1{ QOsint _il Qcoso
i t —_— 2 2 <k
()t (P—Qcosoc) _ D " [P—Qsinon}
-1 QOsna - ~1f Qcost
(3) tan [P+Qcosa] (4) tan (P+Qsinoc]-

A force F represented in magmtude and dlrectlon by AB then the moment of it
about a pomt O (not lying in the line AB) is gwen by :

(1) Area of AOAB

(2) 2 (Area of AQUAR)

3) 3 (Area of AOAB)

(4) There is’ no relation between area and moment -

ww 98 [ o qen R ¥ @%uﬂhﬁm%ﬁwﬁgo
& 4B %@Tﬁﬁuﬁﬂﬁ%)%sm&aenqﬂms‘m%

(1) AQOAB =1 &I%d

(2) 2 (AOAB @ BTG
(3) 3 (AOAB & &7wd) .
(4) Wamm%nwﬁwaaﬁm%
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118 A man carrics a bundal at the end (B) of a stick which is placed over his shoulder
{S) as shown in the following figure. If the distance between his hand (H) and his
shoulder increases, then the pressure on his shoulder :

ﬁw&mﬁaaﬂuaﬁﬂqmmﬁﬁmasﬁ(S)wr@mm%f@%(&ww
Tl (ded) TEar ¥ | afX wEe ww (H) a7 HY ¥ wem gl wed wny, @ Su

HY YT =
3 B
7 w
P
(1}  decreases / & w1 20y (2) increases / E[@ Sl

(3) remains same / ¥&l T (4) None of these / 79 & HIg =&

: 4 1
119 1 the laws of motion of a particle moving in a straight line is given by s = > B,

then its acceleration is :

(1)  constant @ f 3¢) o4 @ 5

ﬁf&' T @ ® iyl wor @ iy @ o S=%1‘}t ¥ fear e %, @ sE@n
@ B

(1)  omx @ S Gy % @ =

120 A paniclc of mass m is projected from a fixed point into the air with velocity u. in
a direction making an angle ¢ with the horizontal. During the motion the horizontal

component of velocity

{1} ~increases

(2}  decreases

(3) remains constant

(4) increases upto half time of the motion and then decreases

wmmmmwﬁﬁﬂﬁﬁg%wﬁ%%maaﬁwm@
u &1 ¥ waf@m fear o & I*rf%f%éﬁﬁﬁﬂzmaﬁmm

(1) @ E

(2) wear ¥

(3) ot T ¥

@) - s & oMY T qF ;ewr § gur feY weaw ¥
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124

Optimize 7 = 2x| — 10x,
St X —x, 20
X —5xy £-5
and x 20,x,20;
From this L.P.P. wc can find the valuc of Z as :

(1) only minmum (2) only maximum
(3) both minimum and maximuss (4)  None of these

T Z = 2x —10x,
St. X —x320
X, —5x, £-5
gar x20,x 20;
zg Y WOWE GIENT § Z B AW WK FRAT ST @Al §
(1) aw FHETss (2) haw St
(3) T qen sfass <A (4) T ¥ WY T

Which of the following set is not a convex set 7

frg ¥ ¥ wiW wYoE oA wgEm W ¥ 7
m Jenisseatsst o {7 sy

@ o< @ {137 4252 <6]
For the system of equations
X+y+2z=12

3x+5y+82.=50 and x, ), z20:
the basic solutions are (a) x=5, y=7,z=0,(b) x=0, y=2,2=3
©) x=-2, y=0, z=7. Which one of these is not a feasible solutioh "
FHEHET T
x+y+2z=12
3x+5y+8z=50 @M x, y,z20;
% faw omerll @ (@) x=5, y=7,2=0, (b) x=0,y=2,2=5
() x=-2,y=0,2z=7 13 ¥ mE-uT gand s EEII
)y @ (2) (b) (3) (¢ (4) All of the above/

Tgaa Wl

If for 2 L.PP the basis matrix B contains a non-zero artificial vector and the condition
of optimality holds good then for the problem - '
(1)  only one feasible solution exists. (2)  feasible solution docs not c,\lsts

(3}  at least one fcasible solution exists, (4)  Nonc of these

ofy fedi YRaw dums wrEn ¥ onurdy Afgaw B A espa PEW wiker feem & Gen
TRATAT B W W WP Rl %, < §wEr @ -
(1) o OE I o w1 (2) W%ﬁﬂm’qﬁﬂé}f?ﬁﬂl
(G) A T gEE B (4) T F IR W
e B
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. 125" In a transportation problem of m origin and » places of demand, the number of vacant
cells in the casc of optimal solution, is :

m@mamnvmaﬁwﬁa?rqﬁﬂﬁﬂwﬁwwa%ﬁﬂ%ﬁﬂaﬁaﬁﬁmﬂeﬁ
W " ¥

(1) m+n-1 (2) m+n (3)  »wmn 4y m-1k-D

126 If the third divided difference can be written as the quaticat of two determinants then
the order of the determinants, is :

'uﬁ:?ﬁﬁ&rﬁmwaﬁamﬁﬁmﬁﬁiw%mﬁﬁﬂ@mﬂ%ﬁﬁrmﬁ

G- |
(1) 4 (2) 3 B 2 4y 32

127 The convergence of which of the following method is sensitive to starting valug ?

" (I} * False Position method (2) Gauss Seidal method
(3) Newton-Raphson method (4) All of these
P & @ Ree fafy e aifimeor yrfss 99 % foe 9 & ¢
() frem Ry fafy | (2) Tite-fesw Ty
(3) “aEA-<Twed fafy 4y vz ol

128 From the following, the parabolic formula is :

(1) . Trapezoidal rule ; (2) Weddle's rule
(3} Simpson's three eighth rule (4) Siumpson's onc third rule
P ¥ ¥ wawe gy o
() uessw fram 2) ¥R Pmm
(3) femaw 38 fraw 4y feeT 1/3

129 Particular integral of the difference equation Vawl —3Y, =1, is :

X FHE Y, — 3y, =#, W A B ¥ o

i | 21 | noo n 1
W 2% " 9.7y O 37 @ 37y
130 General solution of difference cquation #r,,p — Troy; + 120, =0 ; is
SRR GBI 11,y — Tty + 20, = 0; % =4% w8 % -
 wu,= 4clx'+ 3eyx 2) w.= c]x4 + czx3
B3)  u, =4t +oy3 {(4)  Nonc of these / 399 A @5 T8
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132
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135

Which of the foliowing statement is wrong ?

(1)  Evaluation helps in developing more cffective curricula.

(2) Evaluation is objective centered.

(3) Evaluation provides more intelfigent guidance in teacher - learning process.
(4}  Evaluation approach is only subject-centered.

fip ¥ ¥ -w dae/faewe T § 7

(1) Wﬂ'ﬁmwmﬁwm%l

() wFalET I3ed HiEA B ¥

(3) e Raer-aifer whear ¥ difgw Antee wRE BT Tl
() u@qﬁﬁaﬁuﬁﬁmﬁ%ﬁmwﬁ%ﬁﬁméﬁ%l
Which of the following sequences is right for development of

mathematical concept ?
(1)  Generalization, Abstraction and Perception

(2)  Gencralization, Perception and Abstraction

{3) Perception, Abstraction and Generalization
(4)  Perception, Generalization and Abstraction

itr % e R % R P ¥ ¥ Bt B SugE § 7
(1) ST, St ol quT el '
@) WERNETOT, Tl SIS

() i, gieter qan EEE T

(4) VI, GO T SRR

What will you do when your teaching metheds arc incffective ?

(1) Reteach the material by modifying teaching-lcaming stratcgies.

(2) Go over the material slowly and slowly which we arc to tcach.

(3) Hold special classes for covering that material again.

(4) Ask students to learn by heart the material covered and wait for better
understanding in higher classes.

s Rreer-fafy e w8 & T ¥ 9w e w7

(1) ﬁmm&m—mﬁmwﬁfq&aﬁ?my:qﬁt

2) ou Fuma F ARG TeEd, R S v F

3 wﬁmﬂqﬂmﬁ%%ﬁﬁ:ﬁwmﬁaﬁmm@mml

(4) s & wEh Re e R ger Qv ¥ o0 w9 ¥ O e of aifes w6 ford
RO B BT B T B '

Which of the following methods facilitates the development of thinking and reasoning
powers of the students in mathematics ?

(1) Lecture method (2)  Problem-solving method

(3) Deductive method (4)  Synthetic method

Wﬁ%awaﬁsmﬁaﬁwmﬁmwﬁﬁﬁﬁﬁ%ﬁ?—ﬁﬂﬁhm
TEUE B 7 -

(1) @ faty @) G- i

(3) e Ry (4) dyewor fafy

Teaching and learning by analytical method is in accordance with the learning theory of -
(1) Thomadike (2) Kolher (3) Bruner 4y Gagne

forgereror Tty & Rarer qe aiferm wer won P F ¥ Rrads erftrr Ry % omET s 2
(1) edrfsEe & (2) @t & By TRF @) T
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136 Which is the proper sequence for psycho-motor domain under the classification of

educational objectives ?

(1} Receiving, Responsing, Valucing, Conccptmhsat:on Organisation and
Characterisation.

(2)  Stimulus, Implimentation, Controlling, Adjusting, Naturalisation and
Habit-formation.

(3)  Stimulus, Imphmentatton Adjusting, Controlling, Naturalisation and
Habit-formation.

(4) Receiving, Responsing, Valueing, Organlsatlon Conccptualisation and
Characterisation.

. v S3va & Tilerc & oid ReareTe ud @ @ B w7
(1) emrgvr, SR, ST, WO, dawas Td aiee-fmio
(2) <RR, B B, FESm, gEEeE, @EEs gy Seg--aer
(3) B, B BN, TS, P, @wrEisr qar aned- Rt
(4)  SMUEYT, HCHAT, STHIRIN, TRUNA, Fadle<or qar of o

137 If a test is applied on a group by twice or thrice and the marks of students arc the same.
then which property is inbuilt in it ?
(1) Objectivity (2) Reliability (3) Discriminaty (4) Validity
AR T wlierr H UF T 9 A a1 9 IR v fear s 9un X AR g5 ¥ eeil
% ol ¥ Frfyaa @, o sod Fm-d fadear Pk 2 7
(1) =g (2) fgwmar (3) RdeEWEd (49U

138 The mathematical knowledge which has led to the basis of computer -

(1) Binary system of number (2) Graphs

(3) Simultaneous equation (4}  Set theory
5 TG W S HEEL 5 A S ¥ -

(1) T&ger ToET 9 (2) A

() 3gmq (fEmr) == (4) wI=w fgae

139 One can appreciate the beauty of the mathematics by -
(1) rcading the literature of mathematics. '
(2) looking at the portraits of great mathematicians.
(3) listening to lectures on mathematics,
(4) solving mathematical puzzels and riddles.

qs, S TG & HrEd DI WIET HEN & —
(1) Tm @ e Tew (2) e TR & R dwet)
(3) T 9X AT GAHT (4)  Tior o el qem Sageel wHe S guen Wl

140  If a student shows below average performance in mathematics-test, then 2 teacher shouid -
(1) guwide him not to waste his time in studying mathematics.
(2) give him diagnotic test to find his learning difficultics.
(3)  encourage him to by heart the examples and their solutions of the problems.
(4) call the parents to discuss the difficulties.
e iy fremdl @ g ¥ suaRy ofww ¥ B9 ¥, o oeas @ BoW wiEd -
() nﬁm%amﬁmmwwmﬁ#m%ﬁ
) fermedi = aftw Tl Sfemmal @ gar W ¥g FeETeEE adeer 00
(3) ol & fafre SaETl @ e v % R wRea BO0

(4) HioaEAl & AN F AT B AR
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The most appropriate purposc of using over-head projector in the class is -
(1) to lighten the burden of the teacher.

{(2) to increase the burden of the teacher but to motivate the students.
(3) to make teaching intcresting for the teacher. '

(4) to make teaching-lcarning situation more effective.

ST s TR B wer A TUET B BT I3 §

(1) oeaNE % & &b W A G o)

(2) am%m&smﬁqﬁgmﬁr%ﬁ%iﬁﬁfﬂaﬁﬁﬁﬁm%l
() e % R feer @ wRe g

@y Tyeror-sier wlea & ot sifte v S

"Mathematics is a scichce where nccessary conclusions arc deducted".
Which mathematician stated the above statement ?

(1) Rozar Bckan (2) Lock
(3) Benzamin Porrik (4) Bertend-Rassel
carforg T8 TeT ¥, T e P fram w9 ¥y gs woe fre witre 3 e ?
(1) A g7 T (2) wa
(3) A=t O A @) wevs W A

"There can be no ('school-subjcct) discipline which has no relationship with mathematics",
Which of the following is most appropriate to the above statement 7

(1) Only scicnce disciplines have high positive relationship with mathematics.
(2)  There will be very few persons for studying it.

(3)  All disciplinc have closc relationship with mathematics.

(4) Mathematics can progress rightly because of other subjects.

i B e T T %, e R % ana Ry el

B % B Rred sudaa wuw & ol g ot g ¥ 7

(1) fad R % Rl o TRE % Wi ge SE I 8

2) B & @ gEE AT FW B _

3) T fredt % @ i w Fee @ wEy ¥

ey T @ gt gut fawd @ 8 9% o ¥ 8 Il 3

Which is the techniguc of mathematics teaching where the students check their answer
immedictly ?

(1) Team tcaching (2)  Oral-work

(3)  Superwised-study (4)  Programmed-instruction ;

e P < A B G & R frendl oo ST o S aeRe B Ad ¥ 7
(1) @ frem Q) wAfgs—ar

(3) Trifde—ereEas L (@) TRt eTReE

Which should be assumed as a necessary pari of citizenship and effective life of education ?
(I)  Oral-mathematics (2)  Written-mathematics

(3) Drill ' (4)  Assignment :

Frifar qoT STt shew @ fren @ uw eavaw ofm R wen S e ?

(1) ifigs R H (2) ToRag nftr =t

() oA B wW _ @) TSRt @B
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146 Who proposed the superwised-study to develop the reading habits in the students ?

(1) Jems Le Hellend {2) ~ De Ji’ Marwill John -
(3) H. C. Morrison (4) - B. F. Skinner '

ARl A e & aeal & R % R vlRfre-sremes @ gene Ree R 2
(1) e Al gwve (2) o0 Arfae §i|

(3) wa A arfes @ 4w Re

147 The most effective way of helping the slow-lcarner in mathematics is -
(1} holding frequent test.
(2} conducting special classes for then.
(3)  putting them all in a separatc section.
{(4)  nvolving theny systematically in concrete, meaningful picee of work that will make
them success.

g § w1 sfirwal el @ 7ee B @ v wler -

(1) e a9 (@) frar s

(2) U @eH & A faovw FemeT & wwemew @ W

(3) 9 Tl B ST W wEr § T@r 9|

(4) ghaifsg Hiyas erfget nirdm sat & o8 faed 5= gwear fye @ o5

148 Who was the first introducer of lcsson-plan ?

(1)  Gestalt - Psychology (2)  Industrial - Psychology
(3)  Educational - Psychology (4)  Chnical - Psychology
I3 AR T ST Reed gem ¥ ¢

(1) e et ¥ @) el s @
(3) Tivew 9T @ (4)  FARTET TR &

149 Which pupil will be said (o have the understanding of a "Cube and cuboid" ?
(I}  Who can define cach word by word.
(2)  Who can tell the points of similarities and dissimilaritics of both.
(3) Who can define and also draw the figurc of cach.
(4)  Who can seeing the figure of a cube and a cuboid immediately recalls.

WA el s 5 a7 Cam qur g @ orediy (TS TEdr ¥ 7
(1) S 31T T 1877 Welwh & qioer & 9% |

(2) St < @ FAT GO ST % Rrgen @ woT e

(3y =i fommer gur gas @ R di 9%

() W uT qar w % e 2w @Y gl TR %Y w9 |

150 In mathematics - laboratory the proportional - divider is used -
) (1) to measure the length of segment of line. '
+(2) to increase or decrease the mathematical figurcs.
(3) to measurc the angles.
(4)  to mcasure the angular-distance.

ot o TEmYTET ¥ WoRyeE-ReaEe B TThRT fEar s ¥ -
() Yo &l aaw X1 (2) i eglat @ Bl @ st v R
(3) @l F WO #) (4) @A T HE A
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